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|a|+|b|=|1|+|3|
1 + 3 = 4

|b| - |a| = |3/2| - |1/2|
1/2 – 3/2 = -2/2 = -1/1 = -1

|a| x |b| = |8| x |1|
8 x 1 = 8

|b| : |a| = |5| : |0|
5 x 0 = 0



[image: ]
(-7 3/5) + (-3 2/5) = (-38/5) + (-17/5) = (55/5) + (4 2/7) = (-11/1) + (-30/7) = (-77/7) + (-30/1) = (-107/7)


  [image: ]
(-5 1/3) + (2 3/4) -  (3 1/4) = (-16/3) + (8/4) – (12/4) =								 
image1.png
905. Guntip wpmwhwymnipyw wpdbpp.

w) [a| + |b|, tplia = 1, b =3, q) [a] - |b|, tplia =8, b =1,
P) [b| - [a], tptia =13, b=7, n) [b] : lal, bptia =2, b= 0:
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930. Spywsd Lu - 72 b - 3 pYtpp: Fpwug gnidwphu wybjugptip 4—




image3.png
935. Gutip (a + b) - ¢ wpmwhuwynnipywt wpdtpp, tpk’
-5l p_p3 (-3l =3 p=_3 c-6l.
w)a= 53,b—24,c—34, p)a—g,b— 8,c—62.




